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Question No : 1

From where can you download the FS1 SNMP (Simple Network Management Protocol)
MIB (Management Information Base)?

A. from the Oracle FS System Manager, from the System tab, under Global Settings from
SNMP via Actions

B. from the Support > Utilities branch in the FS System Manager

C. from the Configure > SNMP branch in the FS System Manager

D. from the Monitor > System Alerts branch in the FS System Manager

Answer: A

Question No : 2

What is the minimum bending radius of fiber optic cable?

A. 2 inches (5.1 cm)
B. 3 inches (7.6 cm)
C. 4 inches (10.2 cm)
D. 5inches (12.7 cm)
E. 6 inches (15.2 cm)

Answer: E

Question No : 3

Identify three attributes that can be used to filter the event log.

A. Date Range
B. Severities
C. Categories
D. Time

E. Source

Answer: A,C,D

Question No : 4
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What are the main Controller options forthe FS1?

A. Highperformance and high capacity version
B. HPC and OLTP version

C. Performance and Base version

D. IB and FC host interconnect version

E. OLTP and DSS version

Answer: A
Reference:

http://www.oracle.com/us/products/oracle-fs1-2-ds-2301395.pdf

Question No : 5

Which two statements are true about new Auto-tiering in FS1?

A. Auto-tiering can be used as a mechanism to a change RAID level without service
disruption.

B. There is a policy to set up the data movement, such as Pin, Learn & Hold, Continuous.
C. It works only with SSD and DRAM.

D. SSD tier in Auto-Tiering is used only for caching, not to store the data.

Answer: B,D
Reference:

http://www.oracle.com/us/products/oracle-fs1-2-ds-sw-2301398.pdf

Question No : 6

Which three statements are true for Volume Copy?

A. Volume Copy is a file-by-file copy.
B. Source and target volume can have different QoS.
C. To protect product volume performance, Volume Copy is recommended.
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D. Volume Copy is used for off-Host backup due to lower contention at source volume.
E. License by capacity (TB) is required for Volume Copy.

Answer: B,C,E

Question No : 7

The storage administrator realized that the SAN host is mapped to the wrong cluster LUNSs.
How can the storage administrator correct the LUN mappings?

A. by moving the SAN host to the correct host group
B. by manually updating each LUN mapping

C. by associating the SAN host

D. by installing the FS1 Path Manager

Answer: D
Reference:

http://www.oracle.com/technetwork/articles/servers-storage-admin/012-012-fc-lun-solaris-
1534203.html

Question No : 8

Which four statements are true about MaxRep?

A. The replication license in MaxRep is separate for asynchronousand synchronous.

B. MaxRep supports Application consistent Data Recovery (Windows, Oracle DB).
Additional charges apply.

C. MaxRep can replicate data only across FC link.

D. vSnap is mainly used for test, integrity checking, and single file recovery. It is not for use
in heavy I/0.

E. MaxRep Rollback is an irreversible process.

Answer: A,.C,D,E

Question No : 9
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Which two are recommended locations for Pilots and Controllers?

A. Pilot 1 in RU 21, Pilot 2 in RU 22
B. Pilot 1 in RU 23, Pilot 2 in RU 24
C. Controller 1 in RU 19 and 20, Controller 2 in RU 21 and 22
D. Controller 1 in RU 23 and 24, Controller 2 in RU 25 and 26

Answer: A,C

Question No : 10

Which FSCLI command can be used to identify string configuration?

A. topology

B. verify-topology
C. string-list

D. verify string

Answer: B
Reference:

http://docs.oracle.com/cd/E57980_ 10/E55914 01/E55914 O1.pdf



